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QUESTION 1

Which applications are supported by AppSync?
A. MS Exchange, MS SQL Server, and VMware
B. SAP, MS SQL Server, and VMware

C. Oracle, SharePoint, and DB2

D. VMware, MS Exchange, and SAP

Correct Answer: A

QUESTION 2

When performing switch maintenance, a customer accidentally disconnects all network connections to an active VNX
Data Mover, which has a standby Data Mover.

How does the VNX handle this situation?

A. The primary Data Mover remains active.

B. The active Data Mover immediately fails over.

C. The active Data Mover fails over after 30 seconds of lost connectivity.
D. The VNX notifies EMC Support about the problem.

Correct Answer: A

QUESTION 3

A customer has implemented Unisphere Quality of Service to ensure that an application obtains the resources
necessary to meet the required service level based on a consistent IOPS level. However, when the storage
administrator reviewed performance of the application, the IOPS were variable and lower than expected. Other
applications are receiving exactly the resources defined through the performance policies. What might be the problem?
A. The cruise control is within its learning period.

B. TheUnisphereQoS control engine did not start.

C. The queue depth was set improperly.

D. The IOPS limit for the application was set too high.

Correct Answer: A

QUESTION 4
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Refer to the exhibit.

HiC"

The array has only the disks shown on the exhibit. All disks in the array are 600 GB 15K drives. One disk is used as a
hot spare.

What is the maximum number of disks you can add to a single pool?
A. 25
B. 29
C.24
D. 16

Correct Answer: A

QUESTION 5

Data compression uses what other feature to reduce the amount of capacity a LUN uses?
A. Thin provisioning

B. FAST VP

C. FAST Cache

D. Deduplication

Correct Answer: A
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